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Math 152/172 WEEK in REVIEW T Spring 2025.

1. (a) Use the Integral test to determine whether or not the series is convergent.
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(b} Approximate the sum of the series E n e~ ™ by using the sum of first 4 terms. Estimate the error
n=1

involved in this approximation.
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2. Explain why the Integral Test cannot be used for the series E

eos (Mh

n3+/

= cos{mn)

= :

en +1
n [ |
-1 -0 L
{) n=| — a4,= — Y <

n2+l

b postive ) e Tntegrad Tt

(o weolated

New Section 2 Page 2



- »19 4 f”/
A ,
.g ‘ [ ver}em‘:, Pl

oo
1
3. The tenth partial sum of the series E — s 5yp = 1.G4522.
n

(a) Find the error when nsing the tenth partial sum to approximate the sum of the series

(b} How many terms n would be required so that the error s = s,, is less than 0.0017
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5. Determine whether the given integral is convergent or divergent
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6. Compute the following integrals or show that they diverge.
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11. Which of the following series is convergent?
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